
Subject: Re: NFHS III
Posted by dgodha on Fri, 03 May 2019 07:49:10 GMT
View Forum Message <> Reply to Message

Hello,

My calculations below show the above is possibly true. I will still appreciate if someone can
confirm it. The confusion is that all observations end in row 80. In other words, the start of
calendar is row 80 for all observations despite being different. This means that I will have to
realign the calendar to get all observations to correspond to any particular month or period.

 

Thanks 
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